Bids Opened: 3/13/2013 W.O. No. ER09009

Project: Midway City Street and Drainage Improvements Phase III

Limits: Vanburen Street from 270' S of Worthy Drive to 125' N of Bolsa Avenue

Description	GRFCO, Inc.		
1. Partnering         LS         1.00         \$10,000.00         \$10,000.00         \$14,500.00         \$14,500.00         \$1,000.00           2. Mobilization         LS         1.00         \$300,000.00         \$300,000.00         \$20,000.00         \$20,000.00         \$10,000.00           3. Dust Control         LS         1.00         \$15,000.00         \$12,500.00         \$12,500.00         \$1,000.00           4. Storm Water Pollution Prevention         LS         1.00         \$20,000.00         \$20,000.00         \$17,500.00         \$3,000.00           Plan (SWPPP)         5. Section D Permit Requirements         LS         1.00         \$10,000.00         \$10,000.00         \$23,000.00         \$2,900.00         \$1,000.00           7. Traffic Control and Construction         LS         1.00         \$10,000.00         \$10,000.00         \$37,300.00         \$3,000.00         \$3,000.00         \$37,300.00         \$3,000.00         \$3,000.00         \$32,000.00         \$22,000.00         \$3,000.00         \$3,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$3	Total		
2. Mobilization         LS         1.00         \$300,000.00         \$300,000.00         \$20,000.00         \$20,000.00         \$11,000.00           3. Dust Control         LS         1.00         \$15,000.00         \$15,000.00         \$12,500.00         \$12,500.00         \$1,000.00           4. Storm Water Pollution Prevention Plan (SWPP)         LS         1.00         \$20,000.00         \$20,000.00         \$17,500.00         \$3,000.00           5. Section D Permit Requirements         LS         1.00         \$10,000.00         \$10,000.00         \$2,900.00         \$2,900.00         \$1,000.00           6. Dewatering         LS         1.00         \$10,000.00         \$10,000.00         \$37,300.00         \$37,300.00         \$10,000.00           7. Traffic Control and Construction Phasing         LS         1.00         \$100,000.00         \$30,000.00         \$23,000.00         \$22,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,000.00         \$30,0			
3. Dust Control	\$1,000.00		
A. Storm Water Pollution Prevention Plan (SWPPP)   S.   1.00   \$20,000.00   \$20,000.00   \$17,500.00   \$3,000.00   \$10,000.00   \$10,000.00   \$2,900.00   \$2,900.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.0	\$10,000.00		
Plan (SWPPP)   5. Section D Permit Requirements   LS   1.00   \$10,000.00   \$10,000.00   \$2,900.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00	\$1,000.00		
6. Dewatering LS 1.00 \$10,000.00 \$10,000.00 \$37,300.00 \$37,300.00 \$33,000.00 Phasing 8. Class "A" Field Office MO 12.00 \$3,000.00 \$30,000.00 \$36,000.00 \$23,000.00 \$33,000.00 Phasing 8. Class "A" Field Office MO 12.00 \$3,000.00 \$30,000.00 \$36,000.00 \$42,000.00 \$6,000.00 \$0.00 Phasing 9. Clearing And Grubbing LS 1.00 \$10,000.00 \$10,000.00 \$6,000.00 \$6,000.00 \$25,000.00 \$0.00 Phasing 10. Remover Roadway Structural CY 2,267.00 \$30.00 \$68,010.00 \$134.00 \$303,778.00 \$300.00 \$0.00 Phasing 11. Remove Miscellaneous Concrete CY 283.00 \$50.00 \$14,150.00 \$110.00 \$31,130.00 \$30,00 \$39.00 \$11. Remove Reinforced Concrete Pipe LF 1,886.00 \$40.00 \$75,440.00 \$12.00 \$22,632.00 \$12.00 \$12.00 \$13. Abandon Reinforced Concrete Pipe CY 272.00 \$14.00 \$3,808.00 \$90.00 \$24,480.00 \$100.00 \$13. Remove Storm Drain Manhole EA 7.00 \$1,000.00 \$7,000.00 \$1,375.00 \$9,625.00 \$1,000.00 \$15. Remove Tree EA 1.00 \$500.00 \$500.00 \$500.00 \$1,370.00 \$1,370.00 \$1,000.00 \$1.000.00 \$15. Remove Tree EA 1.00 \$1,000.00 \$1,000.00 \$1,000.00 \$2,600.00 \$2,600.00 \$1,000.00 \$17. Adjust Water Meter Box to Grade EA 13.00 \$300.00 \$2,700.00 \$315.00 \$4,095.00 \$300.00 \$100.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$	\$3,000.00		
7. Traffic Control and Construction Phasing         LS         1.00         \$100,000.00         \$100,000.00         \$23,000.00         \$3,000.00         \$3,000.00           8. Class "A" Field Office         MO         12.00         \$3,000.00         \$36,000.00         \$3,500.00         \$42,000.00         \$6,000.00           9. Clearing And Grubbing         LS         1.00         \$10,000.00         \$68,010.00         \$6,000.00         \$6,000.00         \$25,000.00           10. Remover Roadway Structural Section         CY         2,267.00         \$30.00         \$68,010.00         \$134.00         \$303,778.00         \$30.00           11. Remove Miscellaneous Concrete         CY         283.00         \$50.00         \$14,150.00         \$110.00         \$31,130.00         \$39.00           12. Remover Reinforced Concrete Pipe LF         1,886.00         \$40.00         \$75,440.00         \$12.00         \$22,632.00         \$12.00           13. Abandon Reinforced Concrete Pipe LF         1,886.00         \$40.00         \$7,640.00         \$90.00         \$24,480.00         \$10.00           14. Remove Storm Drain Manhole EA         7.00         \$1,000.00         \$7,000.00         \$1,375.00         \$9,625.00         \$1,000.00           15. Remove Tree         EA         1.00         \$500.00 <t< td=""><td>\$1,000.00</td></t<>	\$1,000.00		
Phasing   R. Class "A" Field Office   MO   12.00   \$3,000.00   \$36,000.00   \$3,500.00   \$42,000.00   \$6,000.00   \$9. Clearing And Grubbing   LS   1.00   \$10,000.00   \$10,000.00   \$6,000.00   \$6,000.00   \$25,000.00   \$10. Remover Roadway Structural   CY   2,267.00   \$30.00   \$68,010.00   \$114.00   \$3134.00   \$303,778.00   \$30.00   \$25,000.00   \$11. Remove Miscellaneous Concrete   CY   283.00   \$50.00   \$14,150.00   \$110.00   \$31,130.00   \$31,130.00   \$39.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00   \$12.00	\$1,000.00		
9. Clearing And Grubbing LS 1.00 \$10,000.00 \$10,000.00 \$6,000.00 \$6,000.00 \$25,000.00 \$10. Remover Roadway Structural CY 2,267.00 \$30.00 \$68,010.00 \$134.00 \$303,778.00 \$30.00 Section \$11. Remove Miscellaneous Concrete CY 283.00 \$50.00 \$14,150.00 \$110.00 \$31,130.00 \$39.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10	\$3,000.00		
10. Remover Roadway Structural Section         CY         2,267.00         \$30.00         \$68,010.00         \$134.00         \$303,778.00         \$30.00           Section         11. Remove Miscellaneous Concrete         CY         283.00         \$50.00         \$14,150.00         \$110.00         \$31,130.00         \$39.00           12. Remover Reinforced Concrete Pipe         LF         1,886.00         \$40.00         \$75,440.00         \$12.00         \$22,632.00         \$12.00           13. Abandon Reinforced Concrete Pipe         CY         272.00         \$14.00         \$3,808.00         \$90.00         \$24,480.00         \$100.00           14. Remove Storm Drain Manhole         EA         7.00         \$1,000.00         \$7,000.00         \$1,375.00         \$9,625.00         \$1,000.00           15. Remove Tree         EA         1.00         \$500.00         \$500.00         \$1,370.00         \$1,370.00         \$1,000.00           16. Relocate Water Meter         EA         1.00         \$1,000.00         \$2,600.00         \$2,600.00         \$1,000.00           17. Adjust Water Valve Box To Grade         EA         13.00         \$300.00         \$2,700.00         \$190.00         \$1,710.00         \$200.00           19. Adjust Storm Drain Manhole to Grade         EA         1.00	\$72,000.00		
Section         11. Remove Miscellaneous Concrete         CY         283.00         \$50.00         \$14,150.00         \$110.00         \$31,130.00         \$39.00           12. Remover Reinforced Concrete Pipe LF         1,886.00         \$40.00         \$75,440.00         \$12.00         \$22,632.00         \$12.00           13. Abandon Reinforced Concrete Pipe CY         272.00         \$14.00         \$3,808.00         \$90.00         \$24,480.00         \$100.00           14. Remove Storm Drain Manhole         EA         7.00         \$1,000.00         \$7,000.00         \$1,375.00         \$9,625.00         \$1,000.00           15. Remove Tree         EA         1.00         \$500.00         \$500.00         \$1,370.00         \$1,370.00         \$1,000.00           16. Relocate Water Meter         EA         1.00         \$1,000.00         \$1,000.00         \$2,600.00         \$2,600.00         \$1,000.00           17. Adjust Water Valve Box To Grade         EA         13.00         \$300.00         \$3,900.00         \$1,710.00         \$200.00           18. Adjust Storm Drain Manhole to Grade         EA         1.00         \$400.00         \$400.00         \$350.00         \$350.00         \$300.00           19. Adjust Sewer Manhole to Grade         EA         13.00         \$400.00         \$5,200.00	\$25,000.00		
12. Remover Reinforced Concrete Pipe LF       1,886.00       \$40.00       \$75,440.00       \$12.00       \$22,632.00       \$12.00         13. Abandon Reinforced Concrete Pipe CY       272.00       \$14.00       \$3,808.00       \$90.00       \$24,480.00       \$100.00         14. Remove Storm Drain Manhole EA       7.00       \$1,000.00       \$7,000.00       \$1,375.00       \$9,625.00       \$1,000.00         15. Remove Tree       EA       1.00       \$500.00       \$500.00       \$1,370.00       \$1,370.00       \$1,000.00         16. Relocate Water Meter       EA       1.00       \$1,000.00       \$1,000.00       \$2,600.00       \$2,600.00       \$1,000.00         17. Adjust Water Valve Box To Grade EA       EA       13.00       \$300.00       \$3,900.00       \$315.00       \$4,095.00       \$300.00         18. Adjust Storm Drain Manhole to Grade EA       1.00       \$400.00       \$400.00       \$350.00       \$350.00       \$300.00         19. Adjust Sewer Manhole to Grade EA       13.00       \$400.00       \$5,200.00       \$355.00       \$4,615.00       \$300.00         21. Unclassified Excavation CY       18,260.00       \$28.00       \$511,280.00       \$33.00       \$991,900.00       \$991,900.00       \$991,900.00       \$990.00	\$68,010.00		
13. Abandon Reinforced Concrete Pipe CY       272.00       \$14.00       \$3,808.00       \$90.00       \$24,480.00       \$100.00         14. Remove Storm Drain Manhole       EA       7.00       \$1,000.00       \$7,000.00       \$1,375.00       \$9,625.00       \$1,000.00         15. Remove Tree       EA       1.00       \$500.00       \$500.00       \$1,370.00       \$1,370.00       \$1,000.00         16. Relocate Water Meter       EA       1.00       \$1,000.00       \$1,000.00       \$2,600.00       \$2,600.00       \$1,000.00         17. Adjust Water Valve Box To Grade       EA       13.00       \$300.00       \$3,900.00       \$315.00       \$4,095.00       \$300.00         18. Adjust Water Meter Box to Grade       EA       9.00       \$300.00       \$2,700.00       \$190.00       \$1,710.00       \$200.00         19. Adjust Storm Drain Manhole to       EA       1.00       \$400.00       \$400.00       \$350.00       \$350.00       \$300.00         20. Adjust Sewer Manhole to Grade       EA       13.00       \$400.00       \$5,200.00       \$355.00       \$4,615.00       \$300.00         21. Unclassified Excavation       CY       18,260.00       \$28.00       \$511,280.00       \$33.00       \$991,900.00       \$90.00	\$11,037.00		
14. Remove Storm Drain Manhole       EA       7.00       \$1,000.00       \$7,000.00       \$1,375.00       \$9,625.00       \$1,000.00         15. Remove Tree       EA       1.00       \$500.00       \$500.00       \$1,370.00       \$1,370.00       \$1,000.00         16. Relocate Water Meter       EA       1.00       \$1,000.00       \$1,000.00       \$2,600.00       \$2,600.00       \$1,000.00         17. Adjust Water Valve Box To Grade       EA       13.00       \$300.00       \$3,900.00       \$315.00       \$4,095.00       \$300.00         18. Adjust Water Meter Box to Grade       EA       9.00       \$300.00       \$2,700.00       \$190.00       \$1,710.00       \$200.00         19. Adjust Storm Drain Manhole to Grade       EA       1.00       \$400.00       \$400.00       \$350.00       \$350.00       \$300.00         Grade       EA       13.00       \$400.00       \$5,200.00       \$355.00       \$4,615.00       \$300.00         20. Adjust Sewer Manhole to Grade       EA       13.00       \$28.00       \$511,280.00       \$33.00       \$602,580.00       \$22.00         22. Slurry Cement Backfill       CY       7,630.00       \$60.00       \$457,800.00       \$130.00       \$991,900.00       \$90.00	\$22,632.00		
15. Remove Tree         EA         1.00         \$500.00         \$500.00         \$1,370.00         \$1,370.00         \$1,000.00           16. Relocate Water Meter         EA         1.00         \$1,000.00         \$1,000.00         \$2,600.00         \$2,600.00         \$1,000.00           17. Adjust Water Valve Box To Grade         EA         13.00         \$300.00         \$3,900.00         \$315.00         \$4,095.00         \$300.00           18. Adjust Water Meter Box to Grade         EA         9.00         \$300.00         \$2,700.00         \$190.00         \$1,710.00         \$200.00           19. Adjust Storm Drain Manhole to Grade         EA         1.00         \$400.00         \$400.00         \$350.00         \$350.00         \$300.00           Grade         EA         13.00         \$400.00         \$5,200.00         \$355.00         \$4,615.00         \$300.00           21. Unclassified Excavation         CY         18,260.00         \$28.00         \$511,280.00         \$33.00         \$602,580.00         \$22.00           22. Slurry Cement Backfill         CY         7,630.00         \$60.00         \$457,800.00         \$130.00         \$991,900.00         \$90.00	\$27,200.00		
16. Relocate Water Meter       EA       1.00       \$1,000.00       \$1,000.00       \$2,600.00       \$2,600.00       \$1,000.00         17. Adjust Water Valve Box To Grade       EA       13.00       \$300.00       \$3,900.00       \$315.00       \$4,095.00       \$300.00         18. Adjust Water Meter Box to Grade       EA       9.00       \$300.00       \$2,700.00       \$190.00       \$1,710.00       \$200.00         19. Adjust Storm Drain Manhole to Grade       EA       1.00       \$400.00       \$400.00       \$350.00       \$350.00       \$300.00         Grade       EA       13.00       \$400.00       \$5,200.00       \$355.00       \$4,615.00       \$300.00         21. Unclassified Excavation       CY       18,260.00       \$28.00       \$511,280.00       \$33.00       \$602,580.00       \$22.00         22. Slurry Cement Backfill       CY       7,630.00       \$60.00       \$457,800.00       \$130.00       \$991,900.00	\$7,000.00		
17. Adjust Water Valve Box To Grade       EA       13.00       \$300.00       \$3,900.00       \$315.00       \$4,095.00       \$300.00         18. Adjust Water Meter Box to Grade       EA       9.00       \$300.00       \$2,700.00       \$190.00       \$1,710.00       \$200.00         19. Adjust Storm Drain Manhole to Grade Grade       EA       1.00       \$400.00       \$400.00       \$350.00       \$350.00       \$300.00         Grade       20. Adjust Sewer Manhole to Grade       EA       13.00       \$400.00       \$5,200.00       \$355.00       \$4,615.00       \$300.00         21. Unclassified Excavation       CY       18,260.00       \$28.00       \$511,280.00       \$33.00       \$602,580.00       \$22.00         22. Slurry Cement Backfill       CY       7,630.00       \$60.00       \$457,800.00       \$130.00       \$991,900.00       \$90.00	\$1,000.00		
18. Adjust Water Meter Box to Grade       EA       9.00       \$300.00       \$2,700.00       \$190.00       \$1,710.00       \$200.00         19. Adjust Storm Drain Manhole to Grade       EA       1.00       \$400.00       \$400.00       \$350.00       \$350.00       \$300.00         Grade       20. Adjust Sewer Manhole to Grade       EA       13.00       \$400.00       \$5,200.00       \$355.00       \$4,615.00       \$300.00         21. Unclassified Excavation       CY       18,260.00       \$28.00       \$511,280.00       \$33.00       \$602,580.00       \$22.00         22. Slurry Cement Backfill       CY       7,630.00       \$60.00       \$457,800.00       \$130.00       \$991,900.00       \$90.00	\$1,000.00		
19. Adjust Storm Drain Manhole to Grade       EA       1.00       \$400.00       \$400.00       \$350.00       \$350.00       \$300.00         Grade       20. Adjust Sewer Manhole to Grade       EA       13.00       \$400.00       \$5,200.00       \$355.00       \$4,615.00       \$300.00         21. Unclassified Excavation       CY       18,260.00       \$28.00       \$511,280.00       \$33.00       \$602,580.00       \$22.00         22. Slurry Cement Backfill       CY       7,630.00       \$60.00       \$457,800.00       \$130.00       \$991,900.00       \$90.00	\$3,900.00		
Grade  20. Adjust Sewer Manhole to Grade EA 13.00 \$400.00 \$5,200.00 \$355.00 \$4,615.00 \$300.00  21. Unclassified Excavation CY 18,260.00 \$28.00 \$511,280.00 \$33.00 \$602,580.00 \$22.00  22. Slurry Cement Backfill CY 7,630.00 \$60.00 \$457,800.00 \$130.00 \$991,900.00	\$1,800.00		
20. Adjust Sewer Manhole to Grade       EA       13.00       \$400.00       \$5,200.00       \$355.00       \$4,615.00       \$300.00         21. Unclassified Excavation       CY       18,260.00       \$28.00       \$511,280.00       \$33.00       \$602,580.00       \$22.00         22. Slurry Cement Backfill       CY       7,630.00       \$60.00       \$457,800.00       \$130.00       \$991,900.00       \$90.00	\$300.00		
22. Slurry Cement Backfill CY 7,630.00 \$60.00 \$457,800.00 \$130.00 \$991,900.00 \$90.00	\$3,900.00		
	\$401,720.00		
23. Coldmill Asphalt Concrete SF 78,428.00 \$0.20 \$15,685.60 \$0.20 \$15,685.60 \$0.28	\$686,700.00		
Pavement	\$21,959.84		
24. Warm Mix Asphalt Concrete TN 5,688.00 \$100.00 \$568,800.00 \$77.00 \$437,976.00 \$84.00 Pavement	\$477,792.00		
25. Pavement Reinforcing Fabric SF 143,553.00 \$0.50 \$71,776.50 \$0.20 \$28,710.60 \$0.20	\$28,710.60		
26. Reinforced Concrete Box Manhole EA 14.00 \$1,200.00 \$16,800.00 \$1,500.00 \$21,000.00	\$21,000.00		
27. Transition Structure RCB to RCB         EA         2.00         \$3,500.00         \$7,000.00         \$23,500.00         \$47,000.00         \$4,000.00	\$8,000.00		
28. Transition Structure Pipe to RCB EA 8.00 \$2,000.00 \$16,000.00 \$4,000.00 \$32,000.00 \$4,000.00	\$32,000.00		
29. Transition Structure Pipe to Pipe EA 1.00 \$2,000.00 \$2,000.00 \$9,000.00 \$9,000.00 \$4,000.00	\$4,000.00		
30. Precast Reinforced Concrete Box LF 193.00 \$400.00 \$77,200.00 \$435.00 \$83,955.00 \$600.00 (RCB) 6' x 3'	\$115,800.00		
	1,968,000.00		
	1,637,100.00		
33. Reinforced Concrete Pipe (RCP) LF 30.00 \$80.00 \$2,400.00 \$270.00 \$8,100.00 \$125.00 18"	\$3,750.00		
34. Reinforced Concrete Pipe (RCP) LF 17.00 \$90.00 \$1,530.00 \$450.00 \$7,650.00 \$130.00	\$2,210.00		
35. Reinforced Concrete Pipe (RCP) LF 60.00 \$90.00 \$5,400.00 \$180.00 \$10,800.00 \$140.00 24"	\$8,400.00		
36. Reinforced Concrete Pipe (RCP) LF 36.00 \$120.00 \$4,320.00 \$315.00 \$11,340.00 \$160.00 36"	\$5,760.00		

Bids Opened: 3/13/2013 W.O. No. ER09009

Project: Midway City Street and Drainage Improvements Phase III

Limits: Vanburen Street from 270' S of Worthy Drive to 125' N of Bolsa Avenue

	ENGINEER'S ESTIMATE KEC Engineering		Engineering	GRFCO,				
Description	Unit	Qty	Item Price	Total	Item Price	Total	Item Price	Total
Schedule of Work Items								
37. Remove and Reconstruct Blockwal	II LF	40.00	\$100.00	\$4,000.00	\$430.00	\$17,200.00	\$500.00	\$20,000.00
38. Non-Conductive Temporary Gate	LS	1.00	\$4,000.00	\$4,000.00	\$14,000.00	\$14,000.00	\$1,000.00	\$1,000.00
39. Curb and Gutter 6"	LF	539.00	\$18.00	\$9,702.00	\$20.00	\$10,780.00	\$20.00	\$10,780.00
40. Rolled Curb	LF	317.00	\$20.00	\$6,340.00	\$28.00	\$8,876.00	\$22.00	\$6,974.00
41. Curb Ramp	SF	939.00	\$8.00	\$7,512.00	\$6.00	\$5,634.00	\$12.00	\$11,268.00
42. Cross Gutter	SF	3,532.00	\$10.00	\$35,320.00	\$8.00	\$28,256.00	\$7.00	\$24,724.00
43. Longitudinal Gutter	SF	2,758.00	\$10.00	\$27,580.00	\$8.00	\$22,064.00	\$6.00	\$16,548.00
44. Bus Pad	SF	1,350.00	\$15.00	\$20,250.00	\$8.00	\$10,800.00	\$12.00	\$16,200.00
45. Concrete Sidewalk	SF	3,793.00	\$8.00	\$30,344.00	\$4.00	\$15,172.00	\$5.00	\$18,965.00
46. Pervious Concrete Sidewalk	SF	3,630.00	\$8.00	\$29,040.00	\$6.00	\$21,780.00	\$10.00	\$36,300.00
47. Driveway Approach	SF	4,443.00	\$8.00	\$35,544.00	\$6.00	\$26,658.00	\$6.00	\$26,658.00
48. Local Depression	SF	850.00	\$8.00	\$6,800.00	\$10.00	\$8,500.00	\$8.00	\$6,800.00
49. Remove Traffic Striping,Pvmt Markings and Raised Pvmt Markers	LS	1.00	\$10,000.00	\$10,000.00	\$4,200.00	\$4,200.00	\$3,000.00	\$3,000.00
50(S). Traffic Striping and Pavement Markings (Specialty)	SF	9,497.00	\$3.00	\$28,491.00	\$2.00	\$18,994.00	\$2.00	\$18,994.00
51(S). Raised Pavement Markers (Reflective or Non Reflective)(Specialty	EA ')	554.00	\$8.00	\$4,432.00	\$4.00	\$2,216.00	\$4.00	\$2,216.00
52. Remove and Replace Roadway Sign	EA	4.00	\$250.00	\$1,000.00	\$135.00	\$540.00	\$300.00	\$1,200.00
53. Project Information Sign	EA	3.00	\$1,000.00	\$3,000.00	\$1,300.00	\$3,900.00	\$2,000.00	\$6,000.00
54. Bioretention Inlet Structure	EA	4.00	\$10,000.00	\$40,000.00	\$24,000.00	\$96,000.00	\$16,000.00	\$64,000.00
55. Curb Inlet Protector	EA	6.00	\$500.00	\$3,000.00	\$2,650.00	\$15,900.00	\$1,000.00	\$6,000.00
56. Relocate Water Line	LF	800.00	\$80.00	\$64,000.00	\$100.00	\$80,000.00	\$110.00	\$88,000.00
57. Relocate Water Service Lateral	EA	25.00	\$800.00	\$20,000.00	\$2,350.00	\$58,750.00	\$1,000.00	\$25,000.00
58. Remove VCP Sewer Line	LF	2,040.00	\$30.00	\$61,200.00	\$0.90	\$1,836.00	\$2.00	\$4,080.00
59. Remove Sewer Manhole	EA	9.00	\$1,000.00	\$9,000.00	\$1,400.00	\$12,600.00	\$600.00	\$5,400.00
60. Sewer Line SDR 35 PVC	LF	2,920.00	\$90.00	\$262,800.00	\$43.00	\$125,560.00	\$180.00	\$525,600.00
61. Sewer Manhole	EA	17.00	\$4,000.00	\$68,000.00	\$4,570.00	\$77,690.00	\$4,000.00	\$68,000.00
62. Reconstruct Sewer House Conncetion Lateral	EA	38.00	\$1,200.00	\$45,600.00	\$2,000.00	\$76,000.00	\$1,200.00	\$45,600.00
0. TOTAL				\$6,219,255.10		\$6,296,618.20		\$6,746,988.44
			ENGINEER	'S ESTIMATE	KE	C Engineering		GRFCO, Inc.
Total Bid Price			:	\$6,219,255.10	9	66,296,618.20		\$6,746,988.44

Bids Opened: 3/13/2013 W.O. No. ER09009

Project: Midway City Street and Drainage Improveme

Limits: Vanburen Street from 270' S of Worthy Drive to

		Minako America Corporation			I	onerock, Inc.	Leatherwood Construction,		
Description	Unit	Qty	Item Price	Total	Item Price	Total	Item Price	Total	
Schedule of Work Items									
1. Partnering	LS	1.00	\$1,000.00	\$1,000.00	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00	
2. Mobilization	LS	1.00	\$200,000.00	\$200,000.00	\$400,000.00	\$400,000.00	\$300,000.00	\$300,000.00	
3. Dust Control	LS	1.00	\$100,000.00	\$100,000.00	\$24,000.00	\$24,000.00	\$5,000.00	\$5,000.00	
Storm Water Pollution Prevention Plan (SWPPP)	LS	1.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	
5. Section D Permit Requirements	LS	1.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	
6. Dewatering	LS	1.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	
7. Traffic Control and Construction Phasing	LS	1.00	\$100,000.00	\$100,000.00	\$35,000.00	\$35,000.00	\$12,000.00	\$12,000.00	
8. Class "A" Field Office	MO	12.00	\$2,000.00	\$24,000.00	\$1,000.00	\$12,000.00	\$1,100.00	\$13,200.00	
9. Clearing And Grubbing	LS	1.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	
10. Remover Roadway Structural Section	CY	2,267.00	\$50.00	\$113,350.00	\$33.00	\$74,811.00	\$65.00	\$147,355.00	
11. Remove Miscellaneous Concrete	CY	283.00	\$100.00	\$28,300.00	\$100.00	\$28,300.00	\$213.00	\$60,279.00	
12. Remover Reinforced Concrete Pipe	e LF	1,886.00	\$10.00	\$18,860.00	\$35.00	\$66,010.00	\$51.00	\$96,186.00	
13. Abandon Reinforced Concrete Pipe	CY	272.00	\$100.00	\$27,200.00	\$75.00	\$20,400.00	\$120.00	\$32,640.00	
14. Remove Storm Drain Manhole	EA	7.00	\$1,000.00	\$7,000.00	\$2,500.00	\$17,500.00	\$1,400.00	\$9,800.00	
15. Remove Tree	EA	1.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$100.00	\$100.00	
16. Relocate Water Meter	EA	1.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$2,750.00	\$2,750.00	
17. Adjust Water Valve Box To Grade	EA	13.00	\$1,000.00	\$13,000.00	\$275.00	\$3,575.00	\$350.00	\$4,550.00	
18. Adjust Water Meter Box to Grade	EA	9.00	\$500.00	\$4,500.00	\$250.00	\$2,250.00	\$350.00	\$3,150.00	
19. Adjust Storm Drain Manhole to Grade	EA	1.00	\$1,500.00	\$1,500.00	\$350.00	\$350.00	\$550.00	\$550.00	
20. Adjust Sewer Manhole to Grade	EA	13.00	\$1,000.00	\$13,000.00	\$350.00	\$4,550.00	\$750.00	\$9,750.00	
21. Unclassified Excavation	CY	18,260.00	\$10.00	\$182,600.00	\$15.00	\$273,900.00	\$85.00	\$1,552,100.00	
22. Slurry Cement Backfill	CY	7,630.00	\$100.00	\$763,000.00	\$75.00	\$572,250.00	\$84.00	\$640,920.00	
23. Coldmill Asphalt Concrete Pavement	SF	78,428.00	\$1.00	\$78,428.00	\$0.10	\$7,842.80	\$0.25	\$19,607.00	
24. Warm Mix Asphalt Concrete Pavement	TN	5,688.00	\$100.00	\$568,800.00	\$75.00	\$426,600.00	\$95.00	\$540,360.00	
25. Pavement Reinforcing Fabric	SF	143,553.00	\$0.20	\$28,710.60	\$0.15	\$21,532.95	\$0.15	\$21,532.95	
26. Reinforced Concrete Box Manhole	EA	14.00	\$5,000.00	\$70,000.00	\$4,500.00	\$63,000.00	\$3,450.00	\$48,300.00	
27. Transition Structure RCB to RCB	EA	2.00	\$10,000.00	\$20,000.00	\$25,000.00	\$50,000.00	\$30,500.00	\$61,000.00	
28. Transition Structure Pipe to RCB	EA	8.00	\$10,000.00	\$80,000.00	\$9,500.00	\$76,000.00	\$3,000.00	\$24,000.00	
29. Transition Structure Pipe to Pipe	EA	1.00	\$100,000.00	\$100,000.00	\$9,500.00	\$9,500.00	\$5,450.00	\$5,450.00	
30. Precast Reinforced Concrete Box (RCB) 6' x 3'	LF	193.00	\$600.00	\$115,800.00	\$515.00	\$99,395.00	\$405.00	\$78,165.00	
31. Precast Reinforced Concrete Box (RCB) 8' x 4'	LF	2,460.00	\$600.00	\$1,476,000.00	\$735.00	\$1,808,100.00	\$450.00	\$1,107,000.00	
32. Precast Reinforced Concrete Box (RCB) 12' x 4'	LF	1,819.00	\$1,000.00	\$1,819,000.00	\$1,085.00	\$1,973,615.00	\$640.00	\$1,164,160.00	
<ol> <li>Reinforced Concrete Pipe (RCP)</li> <li>18"</li> </ol>	LF	30.00	\$200.00	\$6,000.00	\$145.00	\$4,350.00	\$246.00	\$7,380.00	
34. Reinforced Concrete Pipe (RCP) 21"	LF	17.00	\$300.00	\$5,100.00	\$155.00	\$2,635.00	\$260.00	\$4,420.00	
35. Reinforced Concrete Pipe (RCP) 24"	LF	60.00	\$500.00	\$30,000.00	\$195.00	\$11,700.00	\$220.00	\$13,200.00	
36. Reinforced Concrete Pipe (RCP) 36"	LF	36.00	\$500.00	\$18,000.00	\$295.00	\$10,620.00	\$260.00	\$9,360.00	

Bids Opened: 3/13/2013 W.O. No. ER09009

Project: Midway City Street and Drainage Improveme

Limits: Vanburen Street from 270' S of Worthy Drive to

			Minako America	a Corporation		Lonerock, Inc.	Leatherwood Construction,		
Description	Unit	Qty	Item Price	Total	Item Price	Total	Item Price	Total	
Schedule of Work Items									
37. Remove and Reconstruct Blockwall	LF	40.00	\$200.00	\$8,000.00	\$115.00	\$4,600.00	\$605.00	\$24,200.00	
38. Non-Conductive Temporary Gate	LS	1.00	\$6,000.00	\$6,000.00	\$15,000.00	\$15,000.00	\$20,100.00	\$20,100.00	
39. Curb and Gutter 6"	LF	539.00	\$10.00	\$5,390.00	\$35.00	\$18,865.00	\$49.00	\$26,411.00	
40. Rolled Curb	LF	317.00	\$30.00	\$9,510.00	\$35.00	\$11,095.00	\$47.00	\$14,899.00	
41. Curb Ramp	SF	939.00	\$10.00	\$9,390.00	\$7.00	\$6,573.00	\$11.00	\$10,329.00	
42. Cross Gutter	SF	3,532.00	\$10.00	\$35,320.00	\$12.00	\$42,384.00	\$16.00	\$56,512.00	
43. Longitudinal Gutter	SF	2,758.00	\$10.00	\$27,580.00	\$12.00	\$33,096.00	\$16.00	\$44,128.00	
44. Bus Pad	SF	1,350.00	\$10.00	\$13,500.00	\$21.00	\$28,350.00	\$26.00	\$35,100.00	
45. Concrete Sidewalk	SF	3,793.00	\$10.00	\$37,930.00	\$4.70	\$17,827.10	\$8.00	\$30,344.00	
46. Pervious Concrete Sidewalk	SF	3,630.00	\$10.00	\$36,300.00	\$4.70	\$17,061.00	\$8.50	\$30,855.00	
47. Driveway Approach	SF	4,443.00	\$10.00	\$44,430.00	\$4.70	\$20,882.10	\$8.00	\$35,544.00	
48. Local Depression	SF	850.00	\$10.00	\$8,500.00	\$9.00	\$7,650.00	\$26.00	\$22,100.00	
49. Remove Traffic Striping,Pvmt Markings and Raised Pvmt Markers	LS	1.00	\$7,000.00	\$7,000.00	\$3,700.00	\$3,700.00	\$4,000.00	\$4,000.00	
50(S). Traffic Striping and Pavement Markings (Specialty)	SF	9,497.00	\$3.00	\$28,491.00	\$1.24	\$11,776.28	\$1.50	\$14,245.50	
51(S). Raised Pavement Markers (Reflective or Non Reflective)(Specialty)	EA	554.00	\$3.00	\$1,662.00	\$4.00	\$2,216.00	\$4.00	\$2,216.00	
52. Remove and Replace Roadway Sign	EA	4.00	\$500.00	\$2,000.00	\$150.00	\$600.00	\$135.00	\$540.00	
53. Project Information Sign	EA	3.00	\$1,000.00	\$3,000.00	\$800.00	\$2,400.00	\$2,500.00	\$7,500.00	
54. Bioretention Inlet Structure	EA	4.00	\$20,000.00	\$80,000.00	\$5,000.00	\$20,000.00	\$16,500.00	\$66,000.00	
55. Curb Inlet Protector	EA	6.00	\$2,000.00	\$12,000.00	\$750.00	\$4,500.00	\$2,600.00	\$15,600.00	
56. Relocate Water Line	LF	800.00	\$100.00	\$80,000.00	\$90.00	\$72,000.00	\$260.00	\$208,000.00	
57. Relocate Water Service Lateral	EA	25.00	\$100.00	\$2,500.00	\$1,750.00	\$43,750.00	\$3,750.00	\$93,750.00	
58. Remove VCP Sewer Line	LF	2,040.00	\$10.00	\$20,400.00	\$15.00	\$30,600.00	\$45.00	\$91,800.00	
59. Remove Sewer Manhole	EA	9.00	\$1,000.00	\$9,000.00	\$1,500.00	\$13,500.00	\$1,000.00	\$9,000.00	
60. Sewer Line SDR 35 PVC	LF	2,920.00	\$80.00	\$233,600.00	\$100.00	\$292,000.00	\$135.00	\$394,200.00	
61. Sewer Manhole	EA	17.00	\$3,000.00	\$51,000.00	\$5,000.00	\$85,000.00	\$3,750.00	\$63,750.00	
62. Reconstruct Sewer House Conncetion Lateral	EA	38.00	\$1,000.00	\$38,000.00	\$1,500.00	\$57,000.00	\$2,650.00	\$100,700.00	
0. TOTAL				\$6,885,651.60		\$7,018,712.23		\$7,466,088.45	
			Minako Ameri	ca Corporation		Lonerock, Inc.	Leatherwood Co	nstruction, Inc.	
Total Bid Price				\$6,885,651.60		\$7,018,712.23		\$7,466,088.45	

Bids Opened: 3/13/2013 W.O. No. ER09009

Project: Midway City Street and Drainage Improveme

Limits: Vanburen Street from 270' S of Worthy Drive to

			Mike Bubalo Con	struction Co.,	Paulos Engineering, Inc.		
Description	Unit	Qty	Item Price	Total	Item Price	Total	
Schedule of Work Items							
1. Partnering	LS	1.00	\$8,000.00	\$8,000.00	\$6,000.00	\$6,000.00	
2. Mobilization	LS	1.00	\$570,000.00	\$570,000.00	\$150,000.00	\$150,000.00	
3. Dust Control	LS	1.00	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	
Storm Water Pollution Prevention Plan (SWPPP)	LS	1.00	\$20,000.00	\$20,000.00	\$6,000.00	\$6,000.00	
5. Section D Permit Requirements	LS	1.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	
6. Dewatering	LS	1.00	\$65,000.00	\$65,000.00	\$28,000.00	\$28,000.00	
7. Traffic Control and Construction Phasing	LS	1.00	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00	
8. Class "A" Field Office	MO	12.00	\$1,500.00	\$18,000.00	\$18,000.00	\$216,000.00	
9. Clearing And Grubbing	LS	1.00	\$60,000.00	\$60,000.00	\$13,000.00	\$13,000.00	
10. Remover Roadway Structural Section	CY	2,267.00	\$40.00	\$90,680.00	\$26.00	\$58,942.00	
11. Remove Miscellaneous Concrete	CY	283.00	\$125.00	\$35,375.00	\$50.00	\$14,150.00	
12. Remover Reinforced Concrete Pipe	LF	1,886.00	\$20.00	\$37,720.00	\$60.00	\$113,160.00	
13. Abandon Reinforced Concrete Pipe	CY	272.00	\$75.00	\$20,400.00	\$107.00	\$29,104.00	
14. Remove Storm Drain Manhole	EA	7.00	\$2,000.00	\$14,000.00	\$1,000.00	\$7,000.00	
15. Remove Tree	EΑ	1.00	\$1,000.00	\$1,000.00	\$2,600.00	\$2,600.00	
16. Relocate Water Meter	EΑ	1.00	\$5,000.00	\$5,000.00	\$1,900.00	\$1,900.00	
17. Adjust Water Valve Box To Grade	EA	13.00	\$500.00	\$6,500.00	\$450.00	\$5,850.00	
18. Adjust Water Meter Box to Grade	EA	9.00	\$200.00	\$1,800.00	\$125.00	\$1,125.00	
19. Adjust Storm Drain Manhole to Grade	EA	1.00	\$400.00	\$400.00	\$725.00	\$725.00	
20. Adjust Sewer Manhole to Grade	EA	13.00	\$400.00	\$5,200.00	\$600.00	\$7,800.00	
21. Unclassified Excavation	CY	18,260.00	\$30.00	\$547,800.00	\$27.00	\$493,020.00	
22. Slurry Cement Backfill	CY	7,630.00	\$60.00	\$457,800.00	\$75.00	\$572,250.00	
23. Coldmill Asphalt Concrete Pavement	SF	78,428.00	\$0.15	\$11,764.20	\$0.25	\$19,607.00	
24. Warm Mix Asphalt Concrete Pavement	TN	5,688.00	\$75.00	\$426,600.00	\$83.00	\$472,104.00	
25. Pavement Reinforcing Fabric	SF	143,553.00	\$0.15	\$21,532.95	\$0.20	\$28,710.60	
26. Reinforced Concrete Box Manhole	EA	14.00	\$3,000.00	\$42,000.00	\$900.00	\$12,600.00	
27. Transition Structure RCB to RCB	EA	2.00	\$30,000.00	\$60,000.00	\$20,000.00	\$40,000.00	
28. Transition Structure Pipe to RCB	EA	8.00	\$8,000.00	\$64,000.00	\$4,400.00	\$35,200.00	
29. Transition Structure Pipe to Pipe	EA	1.00	\$5,000.00	\$5,000.00	\$4,800.00	\$4,800.00	
30. Precast Reinforced Concrete Box (RCB) 6' x 3'	LF	193.00	\$900.00	\$173,700.00	\$705.00	\$136,065.00	
	LF	2,460.00	\$925.00	\$2,275,500.00	\$850.00	\$2,091,000.00	
	LF	1,819.00	\$950.00	\$1,728,050.00	\$1,000.00	\$1,819,000.00	
	LF	30.00	\$200.00	\$6,000.00	\$199.00	\$5,970.00	
	LF	17.00	\$225.00	\$3,825.00	\$220.00	\$3,740.00	
	LF	60.00	\$250.00	\$15,000.00	\$220.00	\$13,200.00	
	LF	36.00	\$300.00	\$10,800.00	\$285.00	\$10,260.00	

Bids Opened: 3/13/2013 W.O. No. ER09009

Project: Midway City Street and Drainage Improveme

Limits: Vanburen Street from 270' S of Worthy Drive to

		1	Mike Bubalo Con	struction Co.,	Paulos Engineering, Inc.		
Description	Unit	Qty	Item Price	Total	Item Price	Total	
Schedule of Work Items							
37. Remove and Reconstruct Blockwall	LF	40.00	\$500.00	\$20,000.00	\$250.00	\$10,000.00	
38. Non-Conductive Temporary Gate	LS	1.00	\$15,000.00	\$15,000.00	\$4,000.00	\$4,000.00	
39. Curb and Gutter 6"	LF	539.00	\$40.00	\$21,560.00	\$57.00	\$30,723.00	
40. Rolled Curb	LF	317.00	\$40.00	\$12,680.00	\$55.00	\$17,435.00	
41. Curb Ramp	SF	939.00	\$10.00	\$9,390.00	\$11.00	\$10,329.00	
42. Cross Gutter	SF	3,532.00	\$15.00	\$52,980.00	\$17.00	\$60,044.00	
43. Longitudinal Gutter	SF	2,758.00	\$15.00	\$41,370.00	\$13.00	\$35,854.00	
44. Bus Pad	SF	1,350.00	\$25.00	\$33,750.00	\$14.50	\$19,575.00	
45. Concrete Sidewalk	SF	3,793.00	\$5.00	\$18,965.00	\$6.00	\$22,758.00	
46. Pervious Concrete Sidewalk	SF	3,630.00	\$5.00	\$18,150.00	\$8.00	\$29,040.00	
47. Driveway Approach	SF	4,443.00	\$5.00	\$22,215.00	\$10.00	\$44,430.00	
48. Local Depression	SF	850.00	\$20.00	\$17,000.00	\$10.00	\$8,500.00	
49. Remove Traffic Striping,Pvmt Markings and Raised Pvmt Markers	LS	1.00	\$4,000.00	\$4,000.00	\$3,900.00	\$3,900.00	
50(S). Traffic Striping and Pavement Markings (Specialty)	SF	9,497.00	\$3.50	\$33,239.50	\$2.00	\$18,994.00	
51(S). Raised Pavement Markers (Reflective or Non Reflective)(Specialty)	EA	554.00	\$4.00	\$2,216.00	\$4.00	\$2,216.00	
52. Remove and Replace Roadway Sign	EA	4.00	\$500.00	\$2,000.00	\$235.00	\$940.00	
53. Project Information Sign	EA	3.00	\$3,000.00	\$9,000.00	\$1,100.00	\$3,300.00	
54. Bioretention Inlet Structure	EA	4.00	\$5,000.00	\$20,000.00	\$19,400.00	\$77,600.00	
55. Curb Inlet Protector	EA	6.00	\$2,000.00	\$12,000.00	\$2,700.00	\$16,200.00	
56. Relocate Water Line	LF	800.00	\$200.00	\$160,000.00	\$140.00	\$112,000.00	
57. Relocate Water Service Lateral	EA	25.00	\$2,500.00	\$62,500.00	\$2,200.00	\$55,000.00	
58. Remove VCP Sewer Line	LF	2,040.00	\$10.00	\$20,400.00	\$12.00	\$24,480.00	
59. Remove Sewer Manhole	EA	9.00	\$1,000.00	\$9,000.00	\$950.00	\$8,550.00	
60. Sewer Line SDR 35 PVC	LF	2,920.00	\$75.00	\$219,000.00	\$224.00	\$654,080.00	
61. Sewer Manhole	EA	17.00	\$1,500.00	\$25,500.00	\$4,200.00	\$71,400.00	
62. Reconstruct Sewer House Conncetion Lateral	EA	38.00	\$1,500.00	\$57,000.00	\$3,000.00	\$114,000.00	
0. TOTAL				\$7,762,362.65		\$7,941,230.60	
			Mike Bubalo Co	nstruction Co., Inc.	Paulos En	gineering, Inc.	
Γotal Bid Price				\$7,762,362.65		\$7,941,230.60	